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Use MATLAB to generate the Bode plots of the following system.
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= [1 0.1];

num
den

[1 98 0];

figure;

bode (num, den) ;

grid on;

Bode Diagram

Frequency (rad/sec)
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Bode Diagram

(117
[1 8 64 0];
figure;

Use MATLAB to generate the Bode plots of the following system.

bode (num, den) ;
grid on;

num
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7. Let a system have the following frequency response. Find the output of the system to the
following input.

x(f) =10+ 5 cos(t) + 100cos(10¢ + 45°)

Magnitude (dB)
g 8

Phase (deg)
&
I

Frequency (rad/sec)
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